## Format for Advertisement in Website

## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Tripura, as per following details

SL NO	Name Of Location	Revenue District	Type of RO (Regul ar/ Rural)	Estimat ed monthl y Sales Potenti al (MS+H SD) in Kls	Category (Sc/Sc CC 1/SC PH/ST/ST cc 1/ST PH/OBC/OB cc 1/OBC PH/OPEN/O PEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/C FS)	Minim um Fronta ge of Site (in M)	Minim um Depth of Site (in M)	Minim um Area of site (in Sq. M.)	Estimate d working capital requirem ent for operatio n of RO (Rs in Lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Biddi ng)	Fixed Fee / Min bid amous in Lakhs )	Securi ty Depo sit (Rs in Lakhs )
	Bamutia Binodini Gilrs high school to Gandhigram HS	West Tripura										Denver		
1	school on both side of the road Lefunga PS to	West Tripura	Rural	166	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
2	Rajghat Sub Centre on both		Burol	66	80	CES	25	25	625	0	0	Draw of	0	2
3	side of Road Silapathar High School to Belonia- Sonamura Road Junction on both side of the road	South Tripura	Rural Rural	66 159	SC	CFS DC	25 25	25 25	625 625	12	30	Lots Draw of Lots	5	3
	Mohanbhag HS school to North Kamrangatali HS School on both side of Melaghar -											Draw of		
4	Kakrabon Road BDO Office Rupaichari to NH-8 Junction on both side of Manu Bankur Road	SIPAHIJALA South Tripura	Rural	134 48	OPEN	CFS DC	25 25	25 25	625 625	0	0 30	Lots Draw of	0	2
6	BDO Office Poangbari to Srinagar Bazar towars Srinagar on Both Side of the Road	South Tripura	Rural Rural	48	OPEN	DC	25	25	625	12	30	Lots Draw of Lots	5	4
7	Panchabati Kali Temple to Durgachowmuh ani PS on Both side of the Road	West Tripura	Regul ar	116	sc	CFS	25	25	625	0	0	Draw of Lots	0	3
8	BSF (BOP) GARJANIA TO BANKAR CHOWMUHANI BOTH SIDE OF ROAD	South Tripura	Rural	80	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
9	Bardwar Bari JB School 1/S Khumlung, TTA. ADC to Baramura Bridge on left side of NH8	West Tripura	Regul ar	156	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
10	Litchu Bagan to Mohanpur Bazar on both side of NH-8	West Tripura	Regul ar	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

	Cokkor to 16													
	KM towards	Tripura	Regul									Draw of		
11	Srinagar	0	ar	108	OBC	DC	25	25	625	25	45	Lots	15	4
	GISELA Eng.medium High School to Hazachari High School towards Sabroom on	South Tripura												
12	right side of the Road (on SH)		Regul ar	104	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
12	Parimal		ai	104	OPEN	DC			1225	25	60	LOIS	15	5
	Chowmuhani to Purna Petroleum on Left side on NH-		Regul									Draw of		
13	8 Industrial	SIPAHIJALA	ar	156	OPEN	DC	35	35	1225	25	75	Lots	15	5
14	Training Institute, Khumlung to Belbari RD Block towards right side of the Road	West Tripura	Rural	60	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
14	Holycross	west inputa	Rurai	00	00	010	25	25	025	0	0	LOIS	0	2
15	college to Fatikcharra Bazar towards Left side of NH8	West Tripura	Regul ar	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Fatikcharra bazar to Bamutia Bazar towards left side											Draw of		
16	of the Road (Office of the	West Tripura	Rural	50	OPEN	DC	25	25	625	12	30	Lots	5	4
17	Superintendant of Agriculture, Hezamara) to (LO-044 San Khok 3.275 KM PMGSY TR no 01-212) towards	West Tripura	Regul	169	OPEN	DC	25	25	1225	25	75	Draw of	15	F
17	left side of NH-8 PWD	West Tripura	ar	168	OPEN	DC	35	35	1225	25	75	Lots	15	5
18	Office,Belonia to Holy Spirit School crossing towards Left side of Belonia-	South	Regul	160	OPEN	DC	25	25	625	25	45	Draw of	15	5
10	Agartala Road TULASHIKHOR	Tripura	ar	160	OPEN	DC	25	25	625	25	40	Lots	15	Э
	TO CHEBRI Road (Within 3KM from Tulasikhor Govt. High. School											Draw of		
19	towards Chebri) Kalyanpur /	KHOWAI	Rural	48	OPEN	DC	25 25	25 25	625	12	30	Lots	5	4
20	Purba Kalyanpur Gram Panchayet ,Within 5 KM radius of Kalyanpur Hospital (Not on NH/SH)	KHOWAI	Rural	48	OBC	DC			625	12	30	Draw of Lots	5	3
20	Vanghmun	KHOWAI	Ruiai	40	OBC	DC	25	25	025	12	30	LOIS	5	3
21	Village Council in Jampui Hills (Not on NH/SH) GANGANAGAR	NORTH TRIPURA DHALAI	Rural	48	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
22	VILLAGE COUNCIL(Not on NH/SH)		Rural	48	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
23	Laljuri with in 2 KM radius of LalJuri Hospital towards Laljuri BDO Office (Not on NH/SH)	NORTH TRIPURA	Rural	48	OPEN CC	DC	29	29	625	12	30	Draw of Lots	5	4
	DASDA BAZAR TO SATNALA BAZAR (Not on	NORTH		-		-	25	25		_		Draw of		<u> </u>
24	NH/SH) Purba	TRIPURA	Rural	48	OBC	DC	25	25	625	12	30	Lots	5	3
25	Potacherra Village Council, Raishyabari(Not on NH/SH)	DHALAI	Rural	48	ST	CFS	25	25	625	0	0	Draw of Lots	0	2

	Mungiakami on NH 8 (OLD NH 44-Assam Agartala Road )						35	35						
26	on both side at increasing CHAINAGE 415 KM TO 425 KM	KHOWAI	Regul ar	156	ST	CFS			1225	0	0	Draw of Lots	0	3
	PADMABIL(Dha labil Choumuni to Baizalbari Police Out post alongside						35	35						
27	NH108B on either side)	KHOWAI	Regul ar	150	SC	CFS	0.5	0.5	1225	0	0	Draw of Lots	0	3
28	DOLUGAON ON KAILASAHAR - DOLUGAON - FATIKROY ROAD (EITHER SIDE) FROM NETAJI CHOUMUNI (CHANTAIL) NEAR JUNCTION WITH N H 208 TO DOLUGAON HS SCHOOL ROAD JUNCTION NEAR DOLUGAON BAZAR (NOT ON NH/SH)	UNAKOTI	Rural	48	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
	KADAMTALA ON EITHER SIDE OF KADAMTALA - CHURAIBARI ROAD BETWEEN KADAMTALA FIRE SERVICE (PREMTOLA POINT) TO RAILWAY CROSSING NEAR CHURAIBARI RAIL STATION (NOT ON NH /						25	25				Draw of		
29	SH) KUMARGHAT (OUTSIDE KUMARGAHT MUNICIPALITY COINCIL) WITHIN 2 KMS RADIUS OF RATIBARI STATE BANK OF INDIA BRANCH (NOT NH/SH)	UNAKOTI	Rural	48	OPEN	DC	25	25	625	12	30	Lots Draw of Lots	5	4
31	CHAILENGTA, ON CHAILENGTA - CHAWMANU ROAD ON EITHER SIDE (NOT ON NH/ST) WITHIN 3 KM FROM CHAILENGTA GOVT. HS SCHOOL	DHALAI	Rural	48	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
32	TILTHOI WITHIN 1.5 KM RADIUS OF TILTHOI PRIMARY HEALTH CENTRE ON DHARMANAGA R BATARASI TILTHOI ROAD ON EITHER SIDE (NOT ON NH/SH)	DHALAI	Rural	48	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
32	ON NH8 (OLD NH44) FROM SATCHAND RD	SOUTH	Regul	40	UF EN				020	īΖ	30	Draw of	5	+
33	BLOCK UPTO 3	TRIPURA	ar	156	OBC	DC	45	45	2025	25	75	Lots	15	4

 KM TOWARDS SABROOM ON RHS OF NH44													
82 Miles on NH 8 (OLD NH 44- Assam Agartala Road ) on LHS at increasing CHAINAGE 348 KM TO 353 KM	DHALAI	Regul ar	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in ) and can be downloaded free of cost.